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1:GOTO 10

2:CLEAR: INPUT”DENG JI ?7;J:IFJ=3LET N=20:Q=9:D=8:2=4:G0T07

3:1F J=4LETN=22:Q=6:D=4:2=2GOTO 7

4:1F J=5LET N=25:Q=3:2=2:D=2GOT0 7

5:1F J=10LET N=28:Q=2:2=2:D=2GOTO 7

6:N=30:Q=1:2=1:D=1G0OTO7

7:DIM AS(N+1),B(N), K(N), F1(N), F2(N), BB(N), BD(N), H(N), H1 (N), H2 (N)

8:DIMX(N), Y(N), C(N), HH(N), HS (N), G (18), L1 (N), L2(N), D(N, 2) : IF MSRETURN

9:DIM A(Q, 4),2(Z,4),21(2),22(2),23(2),24(2),D1(D, 4),D2(D, 4)

10:WAIT99:PRINT"LH-TC1600” :WAITO: INPUTFLD?” ;FL$, "LINT?"; LI$, "GRP?";
G$, “0BS? 08, "REG?”:R$

12:INPUT "YMD?":Y$, "N1=":N1, "N2=":N2, "Q=":Q, "D=";D, "Z=";Z

16:IF Q>3LET W1=DEGO. 0013:W2=DEGO. 0009 : ¥5=0. 005 : ¥6=0. 007 ;GOT020

18:W1=DEGO. 0018:W2=DEG0. 0012 :W5=0. 01:W6=0. 015

20:W3=DEGO. 0015:W7=0. 04 :W4=DEG0. 0015

22:CSIZE2: USING

23:LPRINT TAB 0:"DAQ XIAN CE LIANG”:GOSUB 590:LPRINT”UNIT:LH AN GR”:G$

24:LPRINT "INST:WILD TC-1600":LPRINT"YMD:";Y$




25:LPRINT”FLD: " ;FL$:LPRINT”LINT:";LI$
26:LPRINT”0BS:”:08:LPRINT"REG: " ;R$:LPRINT"HA=";Q; "VA=";Z;"D=";D:GOSUB595
28:CSIZE 1:LPRINT USING:"TIME=";TIME:LF 1
30:“A"INPUT"I=";I:IFI<=N2INPUT"A$=";A$ (I), "B$1=";A$ (I-1), "B$2=";A$ (1+1)
:GOTO 33
- 32:PRINT”IDN2”:GOTO"X”
33:IF Z<OOINPUTK=":K(I) :GOTO36
35:J=1:G0T040
36:1F I=N1GOTO 38
37:INPUT "L1=";L1(D):J=1:1F I=N2GOTO 40
38:INPUT "L2=":;L2(I):]J=1
40:"B” : IFJ<=QGOSUBL500: J=J+1:GOTO 40
41:"C”:FOR J=1TOQ:G(J)=A(J, 0) :NEXT J
42: TFQ3LET G1=A(1,0):J1=1:J2=1:62=G1:K=Q:GOSUB800:GOTO 55
45:G1=A(1, 0) :G2=G1:J1=1:J2=1:K=Q:FOR J=1TOK:G (J)=A(J, 0) :NEXT J:GOSUB 130
55:1F ABS (G1-G2)>W2GOSUB 150:GOTO 40
56:IF QX3LET G1=A(2, 0):J1=2:J2=2:(2=G1:K=Q:GOSUB 802:GOTO 58
57:GOTO 61
58:IF ABS (G1-G2) >W2GOSUB 15G:GOTO 40
59:G1=0:FORJ=1TOQSETP2:G1=A(J, 0) /Q+G1:NEXTJ:G3=G1*Q/INT (Q/2+. 5) :G2=0:F0
RJ=2TOQ STEP 2
60:62=(360-4(J, 0)) /Q+GZ:NEXT J:G4=G2*Q/INT(Q/2) :B(I)=DMS(G1+G2) :BB(I)=
DMS (G3-G4) :GOTO 62
61:B(1)=0:FOR J=1TO Q:B(I)=A(J, 0) /Q+B(I) :NEXT J:B(I)=DMSB(I)
62:WAIT 100:PRINT” A----OK”:1FZ=0GOTO D"
63:G0T068
65:72" : IFI=N1GOSUB 188:GOTO 68
66:IF I=N2GOSUB168:GOTO68
67:INPUT”RM! SET?”;J:GOSUB 1550
68:IF I=N1GOTO 98
72:G1=Z1(1) :G2=G1:J1=1:]J2=1:K=Z:FOR J=1TOK:G (J)=Z1(J) :NEXT J:GOSUB 130
75:1F ABS (G1-G2) >¥3GOSUB 160:GOTO72
80:G1=23(1) :62=G1:J1=1:J2=1:K=Z:FOR J=1TOK:G(J)=Z3(J) :NEXTJ:GOSUB 130
85:IF ABS (G1-G2)>W3GOSUB 174:GOTO080
90:WALT 200:PRINTA$(I-1):"Z-—-0K"
95:F1(I)=0:FOR J=1TOZ:F1(1)=Z3(J)/Z+F1(1) :NEXT J:F1(I)=DMS FI1(I)
98:IF 1=N2GOTO 127
100:G1=22 (1) : J1=1:J2=1:62=G1:K=Z:FOR J=1TOK:G (J)=Z2(J) :NEXTJ:GOSUB 130
105:IF ABS (G1-G2) >W3GOSUB 180:GOTO 100
110:G1=24 (1) :G2=G1: J1=1:J2=1:K=Z :FORJ=1TOK:G (J) =Z4 (J) :NEXTJ:GOSUB 130
115:IF ABS (G1-G2)>W3GOSUB 194:GOTO 110 '
120:WAIT 200:PRINT A$(I+1);"Z---OK"
125:F2(1)=0:FOR J=1TO Z:F2(I)=Z4(J)/Z+F2(]J) :NEXT J:F2(I)=DMS F2(I)



127:1F D<>0GOTO "D~

128:GOTO "A”

130:FOR L=1TOK:IFG1>G2(L)LET G1=G(L):J1=L

135:IF G2<G(L)LETG2=G(L) : J2=L

137 :NEXT L:RETURN

150: WAIT 250:PRINTJ1;":";J2:" A>":W2%3600:P1=1:P2=1:CLS

152:CSIZE 1:LPRINT”SET:";J1:” A=";USING;DMSA(J1,0) :USING

155:LPRINT"SET:";J2;"A=";DMSA (J2, 0) :LPRINT”“RM! SET:”;J1;”OR SET:";J2:"A"

157 :WAIT O:INPUT"RM A SET?”:J:RETURN

160:WAIT 200:PRINT A$(I-1);" ”;J1;7:7;J2;7i>";W3*3600

162:CSIZE 1:LPRINT"SET:";J1;” ";A$(I-1):” i=":DMS Z1(J1)*3600:USING

164:LPRINT"SET:"; J2:" ":A$(I-1);” i=";USINGG$;DMS Z1(J2)*10000:USING

166:LPRINT “RM! SET:”;J1:” OR SET:”;J2:” ~;A$(I-1);" Z":CLS

168:WAIT 0:INPUT”RM Z1 SET?”;J:CLS

170:WAIT 100:PRINT"SET:”;J:WAITO:FOR K=1TO4STEP 3:PRINTZ(":J:K:”)="::
INPUT Z(J,K) :CLS

172:NEXTK: 21 (J)=(DEGZ (J, 1) +DEGZ (J, 4)-360) /2:Z3 () =DEGZ(J, 1) -Z1(]) :
RETURN

174:PRINT A$(I-1):" ":J1:7:";J2:7 27:W3%2600

176:CSIZE 1:LPRINT"SET:";J1.” 7;A$(I-1);” Z=";DMSZ3(J):USING

178:LPRINT"SET:";J2;" ":;A$(I-1);” Z=";USINGMS$;DMSZ3(J2) :USING:GOTO166

180:WAIT 200:PRINTA$(I+1);" “;J1;":";J2:"i>";W3%3600

182:CSIZE 1:LPRINT"SET:”;J1:” ":A$(I+1):” i=";Z2(J1)*3600 :USING

184:LPRINT "SET:";J2;" ";A$(I+1);" i=";Z2(J2)*3600:USING

186:LPRINT"RM! SET:”;J1;” OR SET:";J2:” “;A$(I+1);” Z":CLS

188:WAIT 0:INPUT"RM Z1 SET?”:J:CLS

190:WAIT100: PRINT"SET:”; J: WAITO: FORK=2TO3:PRINT"Z(":J:K;")="; : INPUTZ (],
K): CLS

192 :NEXT K:Z2(J)=(DEG Z(J, 2)+DEG Z(J, 3)-360)/2:24(J)=DEG Z(J,2)-22(]):
RETURN

194:PRINTA$ (I+1) ;" ":J1;7:";J2:" 2>”:W4*3600

196:CSIZEL:LPRINT"SET:"; J1:” ”;A$(I+1);” Z=":DMSZ4(J1)

198:LPRINT “SET:";J2;" 7;A$(I+1);” Z=":DMSZ4(J2) :USING:GOTO 186

200:"D":IF I=N2 GOTO "P”

205:J=1

210:TF J<=D GOSUB 3000: J=J+1: GOTO 210

213:1F Q<=3 OR I=N1 GOTO 240

220:G1=D1(1, 0) : J1=1:62=D1(1, 0) : J2=1:K=D:FOR J=1TO D:G(J)=D1(J, 0) :NEXT J:
GOSUB130

225:1F G1-G2>W6 PRINT
J1:7:7 02,757 W6 PRINT"RM! ”; A$ (I-1) : “SET”; J1:"OR” : J2: “D” :GOTO 260

230:D(1, 1)=0:FORJ=1TOD:D(I, 1)=D1(J, 0) /D+D(I, 1) :NEXT J:WAIT

240:TF [=N2 GOTO 252



243:

245:

246
247:
248:

250:
251:
252
253:
254:
255;
257:
260:
270:
275:
280:
290:
295;
297:
300:
310:

315:
320:
330:
335:
370:

375:
390
392:
393:
395
397:

400:
401 :

G1=D2{(1, 0) : J1=1:G2=D2(1, 0) : J2=1:K=D:FORJ=1TOD:G (J)=D2(J, 0) :NEXT J:
GOSUB130
IFG1-G2>W6PRINTJ1;”:": J2;7>" ;W6 :PRINT"RM!” ;A$ (I+1) ; "SET": J1:"0R": J2
:"D”: GOTO 280

:D(I, 2)=0:FORJ=1TO D:D(I, 2)=D2(J, 0) /D+D(I, 2) :NEXT J

IF Q<=3GOTO 252 .

IF ABS (D(I,1)-D(I-1,2))>¥6 WAIT 100:PRINT A$(I-1);”GO BK D >";¥6:
GOSUB 255

IF RD=1 GOTO 260

IF RM=1 GOTO 280

:TF=TIME :WAIT100 :PRINT "D OK":IF I=N1 GOSUB 505:D(I, 0)=D(I, 2) :GOTO "P”

IF Q<=3 LET D(I, 0)=D(I, 2) :GOSUB 500:G0OTQ "P~

D(I-1,0)=D(I-1, 2)/2+D(I, 1)/2: GOSUB 500: GOTO "P”

WAIT 0:INPUT"I=";M:IF M=ILET RD=1:RETURN

IF M=I-1LET RM=1:RETURN

CLS:INPUT “SET?”;]:A=1:GOSUB390:GOSUB370

IF RDWAIT 100:PRINT“RM! 1 NEW SET”:RD=0:GOTO 260

GOTO 230

WAIT 0:INPUT” SET?”:J:A=2:GOSUB 390:GOSUB 375

IF RMWAIT 100:PRINT”RM! 1 NEW SET”:RM=0:GOTO 280

IF I-M=1LET D(M, 2)=0:FOR J=1TO D:D(M, 2)=D2(J, 0) +D (M, 2) :NEXT J:GOTO 235
GOTO 243

WAIT 100:PRINT”D SET:";J:IFJLGOTC 315
WAIT100:PRINT"SET:";J:IF Q3 WAIT O:INPUT"AT=":AT, "P=":P:IF J=1 LET
TN$=RIGHT$ (STRTIME, 7) : TN=VAL TN$

WAIT 0:FOR A=ITO2:IF I=N1 OR Q<=3 IF A=1 GOTO 335

IF I=N2 IF A=2 GOTO 335

GOSUB 390:0N AGOSUB 370, 375

NEXT A:RETURN

D1(J,0)=0:FOR K=1T04:D1(J, K)=G(K) :D1(]J, 0)=G(K) /4+D1(J, 0) : NEXT K:
RETURN

D2(J, 0)=0:FOR K=1T04:D2(J, K)=G(K) :D2(J, 0)=G (K) /4+D2 (J, 0) :NEXT K:
RETURN

:WAIT 0:FOR K=1TO4:IF K=1 PRINT"D”;A;”(":J:A:")”::INPUT G(1):CLS:

GI1=INTG(1): GOTO 393
PRINT™D™;A;"("; J;K; ")=";G1;". 7 : INPUT G(K) :CLS :G(K)=G1+G (K) /1000
NEXT K

:G1=G (1) : J1=1:62=G1: J2=1:K=4:GOSUB130: IFABS (G1-G2) >¥5 WAIT:PRINT J1;

"7 12, 7> TIWS:GOTO 390

RETURN

TPT M$="HERE, tHEE" US="HEREE. 4817 G1=1

LF 1:CSIZE 1:LPRINT TAB 3;"1=";1;TAB 13;"( ";A$(I):” )":TAB 26:
"K=";K(I):LF 1:FOR J=1T0 Q



403:
404
405:
406:
407:
408:
409:
410:
412:
415:
417:
420
425:
430
432:
435:

437:
440:
442
445
447
450:

455
456
460
466:

468 :
470:
472

476
477:
478:

480
481:
482
483

484:

IF J=1LPRINT USING;A$(I-1)

LPRINT TAB 6;USING M$;A(J, 1);TAB 16:A(], 4)

IF Q3IF GILF1:CSIZE 2:LPRINT” L”:G1=0:CSIZE 1:LF-2:GOTO 408
IF Q3IF G1=0LF 1:CSIZE 2:LPRINT” R":G1=1:CSIZE 1:LF-2:GOTO 410
IF J=1 LPRINT TAB 26 ;0.0000

IF J=1 LPRINT USING ;A$(I+1)::GOTO 410

IF Q<=3 LPRINT

LPRINT TAB 6;USING M$;A(J,2);TAB 16:A(J, 3)::IF @3 GOTO 415
IF J=1 LPRINT TAB 26;USING M$:B(I)+0.00005:LF 1:GOTO 417
LPRINT :LF 1

NEXT J:GOSUB 595

CSIZE1:U$="tatug, sus” IF Z=0GOTO 456

IF I=N1 GOTO 445

:FOR J=1T0 Z:IFJ=1 LPRINT USING;A$(I-1)

LPRINT TAB 8;USING M$:Z(J, 1);TAB 22;Z(], 4) :NEXT J:LF 1
USING:LPRINTTABS; "L1=";L1(I) ;TAB 21;"Z=";TAB 22;USING M$;
F1(I)+0.00005:LF 1

LPRINT TAB 10;"h1=";TAB 15;USING U$:H1(I):USING :LF 1

IF I=N2IF Q<=3GOTO 456

IF I=N2LF 1:USING:GOSUB 595:GOTO 456

FOR J=1TO Z:IFJ=1LPRINT USING;A$(I+1)

CSIZE 1:LPRINT TAB 8;USING M$:Z(J,2);TAB 22;Z(J, 3) :NEXT J:LF 1
USING:LPRINTTABS: "L2=";L2 (1) : TAB 21;"Z=";TAB 22;USING M$:
F2(I)+0.00005:LF 1

:LPRINT TAB 10:"h2=";TAB 15;USING U$;H2(I) :USING:LF 1:GOSUB 595

IF D=0GOTO 498

IF Q<=30R I=N1 GOTO 480

CSIZE 1:USING:LPRINT A$(I);"~";A$(I~1);TAB 10;"AT=";TAB 12:USING:AT:
TAB 19;"P=":TAB 20:USING:P

LPRINT TAB 28;"TN=";TAB 30:USING”###. ##” ;TN:LF 1

FOR J=1TO D:USING:LPRINT TAB 0;J;": ";TAB 5;USING U$;D1(J, 1)
:G1=INTD1(J, 1) :FORK=2T04:G2=(D1(J, K) -G1) *1000: LPRINTTAB (K*7+3) ; USING
TR4HE 7.G2

NEXT K:LPRINT

LF 1:NEXT J

LF 1:LPRINT"BK D=":TAB 4;USING U$;D(I, 1);TAB 15;" (GOD+BK D)/2”;TAB
27:D(1-1,0)

:IF I=N2IF Q<=3LF -2:GOTO 496

IF I=N2LF L:LPRINT TAB 18;"TIOF=";TAB 23;USING;TF;LF1:GOTO 496
IF Q<=3GOTO 485

*LF1:CSIZE 1:USING:LPRINTA$(I);"-";A$ (I+1);TAB 10;"AT=":TAB 12;AT:TAB

19:7P=";TAB 20;P
LPRINT TAB 28:"TN=";TAB 30;USING"#8#. ##” : TN:LF |



485:CSIZE 1:FOR J=1TO D:USING:LPRINT TABO;J;”:”;TAB 5;USING U$;D2(J, 1)

488:G1=INT D2(J, 1) :FOR K=2TO 4:G2=(D2(J, K)-G1)*1000:LPRINT TAB (K*7+3):
USING”####” :G2; :NEXT K:LPRINT

494:LF1:NEXT J:IFQ<=3GOTO 568

495:LF1:LPRINT TAB 0:”GO D=";TAB 4;USING U$;D(I, 2) ;TAB 18; "TMOF=";TAB 23;
USING; TF .

496 :M$=M$+"#" :U$=U$+"#" :GOSUB595

497:CSIZE 2:LPRINT"HA=";USING M$;B(I):IF Z=0GOTO 555

498:IF I=N1GOT0544

499:LPRINT A$(I-1);" Z";F1(1) :GOT0545

500:IF Z=0GOTO "P”

502:62=0. 153+QH{ (1-1)-0. 7)* (K (I-1)-0. 236))

507:G1=0. 153+QH{ (K (1) -0. 07) * (K (1) -0. 236) )

510:IF I=N1GOTO 527

515:G4=D(I-1, 0) :G3=0. 87%G4°2/12742000

520:H1 (1) =G4*TAN(90-DEGF1 (1)) +G1-L1(I)+G3

522:H2 (1-1)=G4*TAN (90-DEGF2 (1-1) ) +G2-L2 (I-1) +G3 : WAIT

525:1F ABS (H1(I)+H2(I-1))>W7*G4 PRINT "GO BK H>”;W7:STOP

526:IF I=N2GOTO 535

527:64=D(I, 2) :63=0. 87%G4"2/1272000

530:H2 (1) =G4*TAN(90-DEG F2(I))+G1-L2(I)+G3

535:RETURN

545:IF I=N2GOTO 555

550:LPRINT A$(I+1);" Z”;F2(I)

555:IF D=0GOSUB 590:G0TO"A”

558:IF Q<=3IF I=N2GOSUB 590:GOTO"A"

560: IF Q<=3LET D(I, 0)=D(I, 2) :LPRINT A$(I);"-";A$(I+1);USING U$:D(I,0):
USING:GOSUB 590:G0T0"A”

565:LPRINT A$(I-1);"-";A$(I) ;USING U$:D(I-1,0) :LPRINT"L-R";USING M$;
DMS BB (I) :USING:GOSUB 590:GOTO "A”

568:D(1,2)=0:FOR L=1TQ D:D(I, 2)=D2(L, 0) /D+D(L, 2) :NEXT L

570:LF1:CSIZE 1:LPRINTTAB2;A$(I):"-";A$(I+1);" GO D=";USING U$;
D(I, 2)+0. 0005 :GOTO 496

580:FOR I=N1TO N2:BB(I)=B(I) :BD(I)=D(I, 0) :NEXTI:RETURN

585:FOR I=N1 TO N2:B(I)=BB(I):D(I, 0)=BD(I):NEXT I:RETURN

590:CSIZE 2:LPRINT TAB 0;” “:RETURN

595:CSIZE 2:LPRINT TAB 0;” " :RETURN

605: INPUT "N1=";N1, “N2=";N2, "AO=";A0, "AN=";AN, "XA=":XA, "YA=";YA, "XB=";
XB, "YB=":YB

610:CSIZE 2:GOSUB595:LF 1:LPRINT "DAO XIAN JI SHUAN":GOSUB 590:USING

615:CSIZE 1:LPRINT"N=";N2-N1+1;TAB 6; A0=";A0;TAB 22: AN=";AN:N=N2-N1+1

620:LPRINT "XA=";XA;TAB 20;”YA=";YA:LPRINT "XB=";XB;TAB 20;"YB=":YB:
RETURN




625:ED=0:FOR I=N1TON2:CSIZE 1:COLOR O0:LPRINT A$(I);TAB 6;USING
"uuhs, uaae” B(1) ; :USING:LF 1

630:IF I=N2GOTO 642

635:LPRINT TAB 18;"D(":TAB 19:1;")=":TAB 24;USING"#ttti#t, ##” . D (I, 0)
+0. 0005 : USING

640:ED=ED+D (I, 0) :NEXT 1

642:LF 1:GOSUB 595

645:C(N1-1)=DEG AOQ:X(N1)=XA:Y(N1)=YA:FOR I=NITO N2:C(I)=C(I-1)+DEG B(I)
-180

647:IF C(I)>360LETC(I)=C(I)-360

650:IF C(I)<OLETC(I)=C(I)+360

652:IF I=N2GOTO 656

655: X (I+1) =X (1) +D (I, 0) *COSC(I) : Y (I+1) =Y (I)+D(I, 0)*SIN C(I)

656 :NEXT 1:RETURN

658 : FA= (C (N2) -DEGAN) *3600 : FX= (X (N2) -XB) #1000 : FY= (Y (N2) -YB) *1000 : S$="##t#
HHB. HHT

659 :WAIT:PRINT"fa= ";FA:IF FA>999STOP

660:S1$="##t1R, ##" :CSIZEL:LPRINT fa=";TAB2:USING S1$;FA;"S”;TAB 20; "ED="
TAB 22;USING S$;ED; "( m}”

662:LPRINT USING S13;"fx=";FX;” (mm)”;TAB 20;"fy=";FY;” (mm}”

665 : FS=QH (FX*FX+FY*FY) : LPRINT"fs=":FS;” (mm) “; TAB 20;USING;"fs/s=1/";
INT(ED*1000/FS) : LF1:RETURN

670:E=0:MI=3:MD=2:FOR I=N1TO N2-1:H(I)=1/(MI"2+(MD*D (I, 0)/1000) 2)

675:H(D)=H(I)*({D(I, 1)-D(I, 2))*1000) "2:E=E+H{(I) :NEXT I:E=QH(E/2/N):
U=FA/N

680:WAIT 100:PRINT"MD=E#MD;E="E

685:53$="#8#. #” :CSIZE 1:LPRINT”U=";TAB 1;USING S3$;U;"(s)”;TAB 11; "MDa="":
TAB 13;MI;” (mm)”

687:LPRINT TAB 23;"MDb=";MD;" (mm) "

690:FOR I=NI1TO N2-1:H(I)=(MI"2+(MD*D(I, 0)/1000) "2} *E:NEXT I

700: XM=0:YM=0:FORI=N1TO N2:XM=XM+X (I) /N:YM=YM+Y (I) /N:NEXT I

710:FOR T=N1TO N2:H1(I}=(X(N2)-X(I))/206. 265:H2 (I)=- (Y (N2)-Y (1)) /206. 265

715:HH(I)=C0S C(I) :HS(I)=SIN C(I)

T17T:NEXT I

720:G2=0:G3=0:G4=0:65=0:G6=0: V=U*U:FOR T=N1TON2:G2=H2(I)*V+;2-

G3=H1 (1) *V+G3

722:1F I=N2GOTO 732

725:G4=H2 (1) "2%V+HH (1) "2%H (1) +G4:G5=H1 (1) #H2 (1) #V+HH (1) #HS (1) *H (1) +G5

730:G6=H1 (1) "2%V+HS (1) "2*H(I) +G6

T32:NEXT I:G1=N*V:F1=FA:F2=FX:F3=FY:GOSUB 790

733:KY=D0:KX=C3+CO*KY : KA=BS+BO*KX+B4*KY : MO= ¥ ABS (QQ/3)

T35:N3=INT ((N1+N2)/2+0.5) :F1=(N3-N1)*V:F4=F1

737:F2=0:F3=0:FOR I=NITO N3-1:F2=H2 (I) "*#V+F2:F3=H1(I)*V+F2:NEXT 1:GOSUB



790:QA=QQ+F4

738:FOR I=N1TO N3-1:G(I-N1)=-(Y(N3)-Y(I))/206. 265:NEXT I:F1=0:F2=0

740:F3=0:F4=0:FORI=N1TO
N3-1:F1=G (1-N1)*V+F1:F2=H2 (I) *G (I-N1) *V+HH (1) "2% H(I)+F2

742:F3=H1 (1) *#G (I-N1) *V+HH (1) #HS (1) *H (1) +F3:F4=G (I-N1) "2+V+HH(I) "2*H (1) +
F4:NEXT I \

745:GOSUB 790:QX=QQ+F4:FOR I=N1TO N3-1:G(I-N1)=(X(N3)-X(1))/206. 265:NEXT
1:F1=0:F2=0:F3=0

747 :F4=0:FOR I=NITO N3-1:F1=G (I-N1) *V+F1:F2=H2 (1) *G (I-N1) *V+HS* (1) *HH (1)
*H (1) +F2

750:F3=H1 (1) %G (I-N1) *V+HS (1) “2%H (I) +F3:F4=G (I-N1) "2%V+HS (I) "2%H (1) +F4:
NEXT 1:GOSUB 790

752:QY=QQ+F4:FOR I=N1TO N2-1:GT7=(HH (I)*KX+HS (I)*KY)*H(I) :D(I, 0)=BD (1)
+G7/1000

755:G8= (KX*H2 (1) +KY*H1 (1) +KA) *V: B (I)=DEG BB(I)+G8/3600:B(I)=DMS B(I):
NEXT 1

758:B(N2)=DEG BB (N2) +KA*V/3600:B{(N2)=DMS B(N2) :RETURN

760:CSIZE 1:LPRINT”(NO)";TAB 7;"(a)”:TAB 17;" (X)":TAB 26;"(Y)”:LF 1

762:FOR I=NITO N2

765:LPRINT A$ (1) ;TAB

12; USING” ##5un#s. #8587, X (1) +0. 0005: TAB23;Y (I) +0. 0005
USING

T68:LPRINT TAB 3;USING “Hufih. ####” ;DMS C(I)+0.00005:NEXT I:LF 1:GOSUB

595:1F XB=ORETURN

770:CSIZE 1:S23="####. #” :MA=MO* v ABS QA :MA=MO* ¥ ABS QX :MY=MO#* v ABS QY :MS=
v (MX*MX-+MY*MY)

772:LPRINT "Mo=";USING S23:INT (MO*10+0.5)/10;

T73:LPRINT TAB 18;"MX(";A$(N3);")=";USING 52%:INT (MX*10+0.5)/10;" (mm)”

775:LPRINT “MY(";A$(N3);")=";USING $2%: INT (MY*10+0.5)/10;" (mm)”

T77:LPRINT TAB 18;"MS(";A$ (N3);™)=",USING S2$;INT (MS*10+0.5)/10;" (mm)"”

780:LPRINT "Ma(";A$(N3-1):"-":A$(N3);”) =" INT (MA%10+0.5) /10;"s”

785:USING:LF 1:GOSUB 595:CSIZE 1:LPRINT TAB 12;”TIME=19";LEFT$ (Y$,2):”. ":
TIME:RETURN

790:B0=-G2/G1 : B1=G4+B0*G2: B2=G5+B0*G3 : B3=F2+F1*B0 : B4=-G3/G1:B5=-F1/G1

792:C0=-B2/B1:C1=G6+G3*B4+B2+C0 : C2=F3+B4*F1+C0*B3 : C3=-B3/B1:D0=-C2/C1

795 : QQ=F 1*B5+B3*C3+C2*D0 : RETURN

800:FOR L=1TO K STEP 2:GOTO 803

802:FOR L=2TO K STEP 2

803:IF G1>G(L)LET G1=G(L):J1=L

805:IF G2<G(L)LET G2=G(L):J2=L

810:NEXT L:RETURN

835:"X”:WAIT 150:PRINT "DAO XIAN JI SUAN"

840:WAIT 0:GOSUB 605:LF 1:GOSUB 595:GOSUB 580:GOSUB 625:IF XB<>0GOSUB



658:GOTO 870

845:G0SUB 760:GOSUB 585:IF Z=OLET K=0:GOTO 886

847:GOTO "HH”

850:7S”:MS=1: INPUT"U=";U, "MDI=" M1, "MDII=":MD:GOSUB  605:1F  Q=0GOSUB
5:Q=1

855:FORT=NITON2: WALTO: PRINT”A$ (";T:")="" : INPUTA$ (I) :CLS: PRINT"B("; 1;")=
“. :INPUTB(I) : IFI=N2GOTO 862

860:CLS:PRINT”D(":1:”)=";: INPUT D(I,0) :CLS

862 :NEXT 1:GOSUB 595:GOSUB 580

863:GOSUB 625:GOSUB 658

870: IF MSLET E=1:GOSUB 685:GOTO880

872:IF Q>3GOSUB 670:GOTO 880

875:E=1:MI=3:MD=2:U=FA/N:GOSUB 685

880:GOSUB 645:LF 1:60SUB 595:GOSUB 760:IF MSLET MS=0

885:GOSUB 585:K=0: INPUT "HH?";K:IF KGOTO"HH”

886:”G”:LF 2:CSIZE2:LPRINT”CHENG GUO BIAO” :GOSUB 590: INPUT”X0=": X0, "Y0=""-
Y0:G13="Hsts. #u8"

887:G28="##14":G1=INT (X0/1E6) :G2=X0-GI*1E6:G3=INT (Y0/1E6) :64=Y0-G3*1E6

888:FOR I=N1TO N2:LF 1:LPRINT TAB 7:A$(I):B1=G2+X(I) :B2=G1:LPRINT"X=" :
GOSUB 891

889:B1=G4+Y (1) :B2=G3:LPRINT “Y=";:GOSUB 891:IFKLPRINT TAB 3;"H=":
H(I) +5E-4

890:NEXT 1:GOSUB 595:STOP

801:1F BICOLPRINT TAB3;”-";Bl=-Bl

892:B3=INT (B1/1E3) :B4=B1-B3*1E3+5E-4

893:1F B2LPRINT TAB 1;USING G2$;B2;:IFB3<100LPRINT TAB 6:70”;:IF B3<10
LPRINT TAB 7;70";

894:TF B3LPRINT TAB 5;USING G2$:B3::IF B4<I00LPRINT TAB 10:70”;:IF B4<10
LPRINT TAB 11;70”

895:LPRINT TAB 9;USING G1$;B4:RETURN

900: "HS” :HS=1:GOT01000

905:FOR I=N1TO N2:WAIT 0:PRINT “A$(";T:")=";:INPUT A$(I):CLS :IF [=N2
GOTO 915

910:PRINT “D(”;1:")=": :INPUT D(I, 0) :CLS:PRINT "h(":1:")="; : input H(I) :CLS

915:NEXT 1:GOTO 1015 .

1000: “HH” : INPUT”N1="; N1, “N2=";N2, "HA=":HA, "HB=";HB:N=N2-N1: IF HSGOTO 905

1002:FOR I=N1+1TO N2:GOSUB 502

1007:H(I-1)=(H2 (1-1)-H1 (1)) /2:NEXT I

1015:LF 1:G0SUB 595:CSIZE 2:LPRINT TAB 0:"GAO CHENG JT SUAN":GOSUB 590

1017:CSIZE 1:LF 1:LPRINT “N=";N+1:TAB 10;"HA=";HA:TAB 24:"HB=":HB:LF I
GOSUB 595 ,

1020:5=0:H=0:FORI=NITO N2-1:HS (I)=INT (D(I, 0),/1040. 5) /100:S=S+HS (I) -
H=H+H (1) :NEXT I



1025: FH=(HA+H-HB) :EH=INT (W7# ¥ S*1000+0. 5) - 1000

1030: IF ABS FH>EHPRINT “fH>W7~:STOP

1040 :HH(N1) =HA:W=FH/S:FOR I=N1+1TO N2

1045 :HH (1) =HH (I-1) +H (1~1) -HS (1-1) *W: NEXT I

1050:CSIZE1: LPRINT"NO™ . TAB 6 "D (km) " ; TAB 14:"h(m) " ; TAB 22; "hh(m) ; TAB 31;
"H(m)":LF 1

1055:FORI=NITO N2

1060: LPRINT USING;A$(I);TAB29;USING”###. #tts” : INT (HH (1) #1000+0. 5) /1000

1061:IF I=N2 GOT01075

1065:LPRINT TAB4;USING”###. #8” HS (I) ; :USING"###. #8#8”: IF HSLPRINT TAB21:
H(I) :GOT01072

1068:LPRINT TABI12;H2(I) :TAB21:H(I)

1070:LPRINT TAB12;H1(I+1)

1072:USING :NEXT I

1075:LF 1:GOSUB 595:S5$="tu#. "

1080:CSIZE 1:LPRINT USING S5$; "hAB=":HB-HA:TAB 15:"W=":FH:TAB 26:"ED=":S:
LPRINT "hab=":H:TAB 14:"WW="EH

1081:LF 1:GOSUB 595:CSIZE 1:LPRINT TAB 15; TIME=":USING: TIME

1085:PRINT "E N D" :END

1500: IF P1GOTO 1505

1502: IF P2LET P2=0:J=Q+1:RETURN

1503 :WAIT 100:PRINT "SET:”;J:WAIT 0:IF J>ZGOSUB 1505:GOTO 1508

1504 :GOSUB 1520:GOTO 1508

1505:WAITO:FOR K=1TO 4:PRINT"A(";J;K;")=", :INPUT A(J,X) :G(K)=DEGA(J,K) :
CLS:NEXT K

1508:G(0)=6(2) -G (3)-G (1) +G (4) : IF G(0)>359LET G (0)=G (0)-360

1510: IF G(0)>360LET G(0)=G(0)~-360

1512:IF ABS G(0)>W1 WAIT 200:PRINT “>”:W1%3600 :CLS:GOTO 1505

1514:1F G(2) <G(1)LETG (2)=G(2)+360

1516:A(J, 0)=G(2) -G (1) -G (0) /2

1517 IF PILET P1=0

1518 : RETURN

1520 :WAIT 0:FOR K=1TO 4:PRINT "A(";J:K;")=": - INPUT A(J, K) :G (K) =DEG A (], K) :
CLS

1521:IF Q<3IF I=N1IF K=10R K=4GOTO 1524

1522: IF Q<3IF I=N2IF K=20R K=3GOTO 1524

1523:PRINT "Z(";J:K:")=";: INPUT Z(J, K) :G(K+4)=DEGZ (J, K) :CLS

1524 :NEXT K

1525: IFG (5)=0GOTO 1530

1527:21 (1) =(G(5)+G (8)-360) /2

1528:23(J)=DEG Z(J, 1)-Z1(])

1530: IF G(6)=0GOTO 1536

1532:Z2(J)=(G(6) +G(7Y-360) 2:IF Z2(])=-180LET Z4(])=0:22(])=0:GOTO 1536



